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What is the significance of the periadic table of clements?
Chaase the best answer,

whsenle

it lists ail the different melals known to humans
It predicts and jists all the chemical elements in the universe

It explains where different atoms can be found
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it proves that atoms are the bullding blocks of matter

2 What do electrons in the same shell have in common?

They have the same amount of energy
They are all positively charged

They are all made un of atoms
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They ali have neulral charges

3 Which of the following is an example of a subatomic
particle?

Carban
Owygen

Electron
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Hydrogen
4 What might hapoen i the shrong foree dida't exizt?

Electrons would have positive charges

Atomic nuclel would fly apart
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€ 1t would be more difficult to split atoms
D Neutrons would not exist

5 Wiat fwo types of particles exist within an stomic pucisas?

Protons and neulrons
Kedlrons and elpctrons

Profons and nealrings
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Positrons and neutross
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Oxygen has an atomic number of 8. What can you conclude
from thiz fact?

An atom of ouygen weichs 8 grams
An atom of oxygen has 4 protons and 4 electrons
& atom of oxygen has § nositrons

An atom of oxygen has § protons

The word “slom™ comes from o Gresk word for “Indivisitie.”
i what way are sloms Infivicinle?

They cannot be separated once they've bonded with other atoms
They cannot be broken apart without losing their chemical
properties

They cannot form bonds with other atoms

They carnot galn of lose slectrons

Hew are malecules difforant from sloms?

They consist of several atoms bonded together
They do net contain neutrons
They do not have nuclei

Their particles do not have electrical charges

What can you conclude from the fact that electrons orbit far
away from slomic suclel?

Electrons are extremely small
Atoms are comprised mostly of empty space

Protons have a positive charge

Atoms consist of subatomic particies

, In the foliowing diagram, what does the number 12
e d represent? | B
Anatomic number T\ )
] /
& nsmber of electrons

An atomic mass

A chemical symbol
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1 How do scientists know how atoms are structured?

By locking at them under a microscope
By running experiments that expose their properties

By examining only the largest stoms
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By splitting them apart

2 What can you conclude from the fact that scientists
cantinue fs yadote the slomic model?

A Newinformation about atoms continues to be discovered
B 0Old information sbout aloms is completely useless
€ Scientists did not have any information about afoms until a few

years ago
D Scientists still have no idea what atoms look fike

k| What contribution did John Datton make to atomic thesry?

A He discovered that every atom was positively charged

B He discovered that every element consisted of one fype of stom
£  He discovered that stoms had nuclei

D He discovered that atoms could be divided into smaler parts

4 Place the foliowing sclentists in arder, ?r%ggg %@%;eﬁﬁ to
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5 The majority of an atom’s mass exists where?

in the nuclous
In the electron cloud

i the space bebween the nucieus and Hhe slostrans
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in the neutrons
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6 What are sﬁsﬁzm@a?

Positively charged particles
Heulrally charged particles

Hegatively charged particles
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Uncharged partizles
7 Ermest Rutherford discovered that atoms were mastly:
Hegatively charged

Positively charged

Electrons
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Empty space

Electrons and neutrons

Protons and neufrons

Heutrinos and positrons
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ORA and RNA
G How are neutrons different from protons and efectrons?

They are more massive than protons and electrons

They have no electrical charge

Protons and electrons exist in atomic nuclei; neutrons orbit the
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{  They are less massive than protons and electrons
b
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16 How are slectrons arranged in an atom?
& ngroups of five
B inenergylevels
€ Bycolor
{3 Byshape
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